§4.1

1 y="f(x) (ab) x1 (a,b),
jim Y = jjm LD f(x), x+Dx1 (a,b)
@0 Dy Dx®0 Dx
f(x) X
£ ¢x) = lim f(x+Dx)- f(x)
Dx® 0 Dx
f(x) (ab) f(x) f(x)
f(x)
& O | i
dx dx
y¢ f(x,) (Lagrange)
Dy D f(x,) (Cauchy)
% %)  (Newton)
(%) TN ey % &)
y
p
0
=
_ o F(0- f(x) _
X=X,+Dx Dx=x-Xx, , —x-xo =tga
X® % (DX®0),  Pp,p P,
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tea, =f(x) () X

tga, = lim tga = lim T09- (%) _ f &x,)

X® X, ®% X - X,
y=f() t y Dt t® t+Dt

Dy f)® f(t)+Dy=f(t+Dt) Dy=f({t+Dt)- f(t)

by t® t+Dt

Dt

Dy _

lo'[r@poﬁ_ f ¢t) f@ t
v(t) = f(t) v(t) =a(t)

2 @ — o 39(t+ D0 - gt®
L s=41gt v(t)—sﬂ(t)—gtrgo B

i . t+ D) - g(t
im (gt +3gD) =gt a=ve= fim X Dig():g

Dt® 0

f(x) x Dx® 0
f (x+Dx) = f(x)+Dx,vf(X+Dl;‘))(‘ T @ f(x)+0xfEx) = (%)
f) x
_ _ £(0+DX)- £(0) _ i1 Dx>0
Fo=p  x=0 Dx =X <o
Dx® 0

f ((Xo _ 0) - Dl(i@rg_o f (Xo + DX) - f(Xo)

Dx
f‘(x0+0):Dx|igg+of(Xo+D§' f(Xo)
F(x) %
1 Dirichlet D= | é’
|

x=0



1 D(X) 2 xD(X) 3 x°D(X)

lim =lim =lna

w0 x  yolog,(L+y) log,e
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1 D(x) x=0
2 xD(X) x=0 DXD®™ - poxy  Dx® 0
Dx
3 x°D(X) x=0
2 -
D209~ 0 _ by sy @ 0
Dx
':'sn—, xt 0
2 S(X=i x
f o, x=0
1 S(x) x=0
2 xS(x) x=0
3 x’S(x) x=0 0
I P s PN
x® 0 X
2 im2~1-mna
x® 0 X
im X1
x® 0 X
1 log,y y>0
log @+x) %=
L'&T‘l‘)ga IX|r®n0(1+ X)* =log, e
2 a‘-1l=y X® 0 y® 0 x=log, (1+y)
a*-1 y 1



3 (@A+x"-1=y X® 0 y® 0 @+x)"=1+y

m:in(1+x) =In(1+y)

—(1+ X) :X: y ><I’nylr(1+x) ® m X® 0
X

X In(1+ y) X
1 f(x)=c  f(x)=0
2 f(x)=x* a a x>0 f ¢x) =a xx**
f(x+Dx)- f(X) _ (x+Dx)* - xa _ (L+29° -

><—®a><xa‘l Dx® 0

X

Dx Dx

(xe=- 5 (2 0

W)= ——  (x>0)

24/x
3 f(x)=a* (@>0,- ¥ <x<+¥) f¢x)=a"Ana
x+Dx X Dx _
a A —x8 1® a“lna Dx® 0
Dx Dx
4 f)=log, x (0<atl, 0<x<+¥) fx)=19:®
I + Dx) - D
00049109, X 109,048 g Loy oy o
Dx X x
(n x)¢= = Inx
X
5 Sn f(x)=9n x f(x)=cosx
; g D Dx
gn( x+Dx)- 9n x ZCos(x+ Z)dn & 2 ® cosx Ox® 0
Dx Dx
6 Cos f(x)=cosx f(x)=-d9nx

cos(X +Dx) - cosx _ - 29n( x+Z)gn X
Dx Dx

2 ® -dnx Dx® 0

§ 4.2
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1 (¥ 90 x
1 [f()xg(x)]= f(x)+g(x)

2 [1():g(¥]= F(x):g(x) + T(x): 9(x)

100U _ F0)xg(x)- f(x)xg%x)
&a(x) 4 9%(x)

1 y(x) = f(x)+9(x)

Dy _[f(x+Dx)+g(x+Dx)] - [f (X) +9(xX)]

Dx Dx
_fx+Dx)- f(¥) , 9(x+Dx)- g(x)
Dx Dx
® f&x)+g¢x) DX® O
2 y(x) = f(x):9g(x)

Dy _ f(x+Dx)>g(x+Dx) - f(x)>9(x)
Dx Dx
(- F()>g(x+Dx)+ f(x)xg(x + Dx))

— f(X+DX)_ f(X) Xg(X+DX)+ f(X)g(X+DX)_ g(X)

Dx Dx
® fe)xgx)+f(x)xgkx) Dx®O0

1

3 =—

y(X) 300
Dy_1¢6 1 1 U

Dx Dx gg(x+Dx) g0
__ 9(x+Dx)- g(x) , 1

Dx g(x +Dx)g(x)
® - % Dx® 0
LICYNSES
9(x) 9(x)

1 [c f(X)](=cf(X)
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n ( "
2 A ) =8 18
ezl u i=1

(

3 géfi(x)%:éhk(x), K00 = KoL FEOL 1,(%)

j=1 1
tg
(
_&nx0 _cos’x+dn®x 1,
(tgx)¢—§ T = 5 =———=sc’ X
COS X g c0s® X cos® X
(
_awosx0 - cos’x-dnix -1 _ )
(Cth)¢—g. = — =———=-cxt’Xx
sn X g sn? x sn? x
§4.3
1
fuy)  94%,) Uy =9(%) F(X) = f[g(x)] X,

F (%) = £{g(x,)] xg(%,)
f (u) u=g(x)
F(X) = f[g(X)] 9(x)

F(x) = f{9(x)]:g(x)

y§ = yEug
o oy gu
dx du dx
RIOERICO N
A(u) =1 u-u,
b fey,) o U=
A(u) U, Lljiggb A(u) = A(up) = T (u,)

f(u)- f(uy) = Alu)(u- up)

F(O)- F(%) _ fla(]- fla(x)] _ a(x) - g(x,)
o X =g *———

0
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X® X, F (%) = £79(x)]*g4(x,)

A(u)

F(X)- F(%) _ F(u)- f(u) 9(x)- g(x)
X- X, u- u, X- X,

X1 X, u=u,

1 y=+1-x? y(

1
y¢:%(l- x2)Z (1 x?)¢

=%(1- xz)'%(-zx)

2 y=sdnx y(
y¢=cos x* X(x*)¢= 2x cos X
3 y=sdn(En x°) y(
y¢=cos(sin x®) xcos x* X(x*)¢= 3x? cos x* cog(sin x°)

4 y=In(x+~+1+x?)  yC

2X

1+—<2
X+A1+X)C_ 2f1+x® _ 1
X+41+x*  x+41+x>  41+x?

5 y=In|x| y(

ye=

x>0 y=Z x<0 ye(n-x)e=- (K2 \ X1 0
X
(In|x|)¢:1
X

6 y=Indn(2x) y(

- cos(2x) = M
an( 2x) an( 2x)
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d
y =Yy(x) F(x,y)=0 &F(x,y):o
F(xy)=0 y = y(x)
7 x*+y?=a? (% Yo) (Yo 0)
x*+y? =a’ y=y(x) X
2X+2y:y(=0
yO) =- =
y
(% Yo) V&) == 22 (%) Yo)

0

_ X%
- Yo =-—(X-X
Y- Yo yo( 0)

X+ Yo =% +Yo

XX, + Yy, = a’
3
X3
8 y=/ (@a>0) ¢
\x- a
3 1
(-¥,00 (a+¥) Iny=—=In|x[-=In|x- a
2 2
( 31 1 1 2x- 3a
y =y(X) y_st 1.1 _
y 2 X 2 x-a 2X(x-a)
_2x-3a | x°
ye=
2x(x- a) | x- a
9 y=u" u=u(x) v=v(x) y(
Iny=v:inu L(:vcbdnu+vx1>u¢

Yy u
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( (
yC= y(%+vd>4n u) :uv(%+v®<lnu)

y=x* yt=x*(1+Inx)

x=j (y) (c.d) Yol (c.d)

J Yo * 0 % =] (Yo) y="f(Xx) X

1 1
FEx)=—t =
o) = e ST ool

x=j(y) (cd) >0( <0) y="1(x)

1 1 1 |

f = = =
©) jgy) JEfe9 €y y=f()

>0( <0) j(y)
dy — 1

dx_&

dy

im 109 100)
X®%  X- X,

Y- Y%

-1 00 y=tx)

a(y) =

lim f(X)_ f(XO) — |i 1 — 1

lim - :
@i (y)-j (Y,) @] (V)] (Yo) | &y,)
Y- Yo

X® X, y® vy,

160 109) -y 1101 fm ) = -

lim
X® X, X-= Xo

10 y=a* (a>0, atl y(

=aXlna

x=log,y (a*)e= ‘ Y

y:ax_ log, e

(loga y)¢ y=aX
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1 1 log, e
)¢ log . X)¢= —— . - 109,
@) (Iog. %) (@)¢| x=lodg Yy a*lna vy

11 y=x y(
y:ealnx y¢:a;ea In x :axxa-l

12 y=acsn x y(

Xx=g9ny
(@csin x)¢=—> |
(gn y)¢| y=acan X
_ 1
- cos(arcsin Xx)
_ 1
1- X

13 y =arccos x y(

(arccos x)¢= o8| y=arccosx

1
sin(arccos x)

14 y=arctgx y(

1
arctgx)¢=——
(arctgx) (tg y)¢| y=arctgx

1
~ sec?(arctgx)
1
1+ x?

1
C=- —
(arcctg x) v

y=shx=1(e"- €7)
y=chx=1(e*+e ")
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y=thx=m
chx

y:cthx:m
shx

ch®x- sh®x=1

ch®x + sh®x = ch2x

sh2x = 2sh x: chx

sh(xxy)=shx:chyxchx:shy

ch(x+y)=chx:chy+xshx:shy
1

1- th2 :—2
ch*x

1- cth®x=- 1

ShZ

X
shx+chx=¢" jcosq +isng =e"

. I} . i
chx- shx=¢"* fcosq - isng =e™

(shx)(=chx

(chx)(=shx

1
thx)¢=——
(thx) ch?x

Arshx = In( x++/1+ x?)

1 1 1
Arshx)¢= —— = =
( ) (shy)¢| Y=Arsh X ch[Arshx J1+x
Archx

Arthx=lln1+—x

2 1- X
(Arthx)¢= !

1- x°

(c)=0
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(x*)¢=a »xx**

(a*)¢=a*Ina, (e*)¢=¢e"
(Iog, )¢=1%2® (Inx|)6=2
X X
(gn x)(=cos x (shx)(=chx
(cos x)(=- g9n x (chx)(=shx
1 1
¢= thx)¢=
(tg%) cos® X (thx) h2x
1
tgx)¢=-
(ctg ) dn? x
(arcsin x)¢= ! (IN(x++/x? +1))¢= !
1- x? 1+ x?
1
(arccos x)¢= -
1- x?
(
1 &, 1+Xxp 1
arctg x)¢= In + =
( g ) 1+X2 gE 1_ Xﬂ 1_ X2
i X =x(t)
io_ x(t) y) [ab]
1y =y
X(t)>0 x(t)<0 X(t) X = X(t)
) = —— Y(x) = y(t(x)
x&t)
dy _dy /%
dx dt/ dt
1

X(t)r 0
t=t(x)

(
y$ = yoxg= L
x¢

t
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x=OM-CB y=AM-AB OM =CM

ix=at- asnt=af(t- snt)

OftE
{y=a- acost = a(l- cost) ( )
a
A B
A\.
yg:it(: asnt _ 1 B
x¢ a(l- cost) L
g
2
i:l t:B X:a(B-]_) y=a
tgL 2 2
2
- P
-a=x-a(=-1
y (2 )
= P
=x+a(2- =
y ( 2)
r=r(a)
1 x=r(q)cosq
%y:r(q)s'nq
ygzﬁ:qu)SnQH(q)cosq _ req) -t
X¢ rda)cosq-r(q)sng 0 1(d)
réq)
r tga - t
9) 1010 _ 40 - q)=tgb
r¢q) 1+tgatgqg X
B
r =r(a)
q a
r=ae™ (ab>0) <
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rt(q):M:B:tgb b =arctg—- q
§ 4.4
1 s(t) s(t) = v(t) v((t) = <(t)
= a(t)

fO(x) f(x) n-1 n
fO =9 (x)e fo(x)=f(x)
C'(a,b)={f(t) f™@®1 C(ab)}
1 y=e* yWO

yt=ae™ vy@¢=a’e®* L y" =ag"e*
2 y=x y®
yé=a x*! y¢=a’e™ L yP=a@-DL @-n+D)x*" (n31)
a a=n y®=n a<n y"=0 P.(X) m n>m
P™(x)=0

3 y=In(l+x  y©

y(”) = (- 1)”'1M (n3 1)

1
¢= ¢=- L
Y AR L+’

T 1+x

0!

I
o

4 y=snx y®
y¢= cosx :s'n(x+%)

ye=-d9n x=9n(x+p)
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M

y® =dn(x+ %)

(cosx)™ = cog(x + %)

Euler eiq =cosq + idn q,

(€9)™ =jng = eiﬂzp_eiq _ ei(q+ﬂ§—)

— np . np
cos(q 5 ) +idn(q - )
= (cosq)™ +i(sing)™

(cosx)® = COS(X+n7p) (sn x)™ =dn( x+n7p

5 y=arctgx y®

1
1+x

yo=—— = cos’ y

1+tg?y

y@= - 2cosy>an y xyt=cos® ysin 2(y+%)

y®=2cos’ yX- sn y)sn 2(y+%) +2c0s’ ycosZ(y+%)
= 2cos’® y>xcos(2(y + %) +vy)
= 2c0s’ y>an 3(y+%)
LL
\ y™ =(n-1)!cos” y>ann(y +%)
y® (0 = (- )™ (2n- 2)!

y®”(0) =0
2 Lebniz
V)™ =u® £y
(cu)(”) - Cu(n)
(ux)¢=u®v@ +yOy®
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Ux) @ =UuOVO +34Ay® 434y 4 OO

u v
() S .k (n-k), (k) K n!
n _ n- _ :
(Ww)” =g Cu™ NV Cf =
k=1 k(n' k)
n=1 n n+1
o k). (K
(U N)(nﬂ) — a Cn [u(n- )V( )]¢
k=0
g
= Crl:[u(n-kﬂ)v(k) +y k)V(k+l)]
k=0
_ 2 Ak (n-k+1), (k) Bt k-1, \(n-k+1), (k)
=acC.u v+ Clu %

=~
I}

0 k=1

n
o - -

Cu™v? +3 (C,ﬁ '+Ck )u(” Dy © 4+ Cru@vir
k=1

-}
=

Ck MK

n+l

]
Qo

=~
1

0

Cy+Cy ' =Cy
y = flg(x)]
ye= f{g(x)] g(x)
yé= f §g(x)]{g¢€x)]” + f ¢g(x)] 9&x)
y® = O[g0)] $g€x)]° + 31 €g(x)] g&x) xg¥&x) + f ¢g(x)] g¥&Xx)
y=y(x), x=x(y)

1
y&x)

xgy) =

-1
x®Ky) = T xy®x) xxgy)

L
[y€x)P®
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i X=X(t)

L y= vy
_y®
y¢x) = X0
_ X()y«(t) - yqu)x«t)
y&x) = Ok X&x)
_ xGt)y&t) - y&t)x&t)
[x¢t)]®
F(xy) =0 y = y(X) F(xy)=0 y(x)
y(x) y«(x) y«x)

6 y=acsinx  y™(0)

y® (%) y®(0)
Taylor
1 2
yC¢= (1- x*)y€¢ =1
1- x?
X (1- X¥)Ryg¢ 2xy¢ =0 |x|<1 yct 0 y(
(1- xX¥*)xy@¢ xy¢=0 (n- 2) Leibniz

@ )y +(n- 229y + LI (g y00 e - y00 <o

x=0
y®(0)- (n- 2)(n- 3y™?(0)- (n- 2y™?(0)=0
y®(0) = (n- 2)2y™?(0)
y?(©0) =0 y®(0)=1
\ y®(0) =0
y®™(0) = (2n- 1)?y*(0)
=(2n-1)%(2n- 3)°L 1°y®(0)
=[(2n- DIJ?
7 y="f(Xx) X yE= (%) y§=1x)* 0
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M (%, Yo = (X))

1 M
2 M
3 M
3
2
1
3.
f (x)
f(p) “
L(X)
1
x? - 10x +20
20

R

abR

(x- a)* +(y- b)* =

R? M

k= (a,b)

(%-a)’+(y,-b?*=R* 1

(%-a)+(Y%-Dby§=0 2

1+y§ +(y, - b)y$=0 3

Y
b= Ty
Yo" Ve
_. el YE
a=x y&—ygp
oo ()2
| y§|

f(x)
C =C(x)
L(x)

fqn)» f(n+1)- f(n)

20

R(X) =20x
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y=f(x)

Q= f(p)
C(x) -
X C=C(x)=
8 10 15

L(X) =R(X) - C(X) =- x* +30x- 20



C=C(x)=(x-10)x+20 20 (x- 10) /

L(x) =-2x+30, L(x)<0 x>15 L(x)>0 x<15

L(8)=14 L(10)=10 L(15) =0 L¢20)=-10

x>15 LX) <0

f (X) xx@ h(x)
f (X)
h(x,)
lh |1
lh >1
|h <1
f'(x) 2
_ Fi(x Dx
h(x) = 9 v Dx® 0
X X
A
2 Q=Ae* A>0 pl [0,+¥)
1
2 p =16
_ 1 -1
1 Q¢—f¢{p)—-ZAe4
_ g p
h(p)=px—==-—
f(p) 4
1% 4% p =16

2 h(6)=-4
1% 4%
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R=R(p) = p:Q=pf(p)

f e R - F@+pe) g, F4P) g,
R(p) f(p) f(p)

h<O0 h<1

-1<h<0 h>0 |h|1
-2<h<-1 h<0 |h[k1

h<-2 h<-1 |hp1

3 X R(X) = 400x- 900- x>
X
R(x) =X R(X) - 400- 20 4
X
RE¢x) =0 Ra()_%-l x =30 x=-30
R(30) =12000 x=30  R(30) =12000
4 X C(x) = x* - 10x* +115x+13

R(X) =100x- x*
L(X) =R(X)- C(X) =- x> +9x* - 15x- 13
L&x) =-3x* +18x- 15

L(x)=0 x*-6x+5=0 x =1 Xx,=5
La(x) =-6x+18

Lql) =12>0 Lg5)=-12<0 5 L(5) =12

§ 4.5
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f (X) (a,b) xI1 (a,b),

Dy = f(x+Dx)- f(x)
= ADx + 0(Dx) (Dx® 0)

y=1f(x) X ADx

dy=df(x) = ADx,

dy Dy

y=1f(x) x y=f(x) X
dy = f(x)Dx

y=f(x) x

Dy = f(x+Dx)- f(x) = A:Dx+0(Dx)
Y _ar A g A DXx® 0 f (x) f(x)=A
Dx Dx

y=f(x x f((x):lljixrg()%

fm[ =+ ©9]=0

g 2 L0006

Dy - f (x)Dx+o0(Dx)

Dy = f(X)Dx +0(Dx)

y=1f(x) X dy = f(x)Dx
y=x y(=1, dy=dx=Dx, X dx = Dx
dy = f(x)Dx ﬂ:fﬂ(x)
dx
dy dy du
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dy _ 1
dx_g
dy
dy
dy_dt
dx dx
dt
dx =Dx=MN
dy=f(x)dx = KN
Dy =PN =dy+PK
0
PK =Dy - dy = 0o(Dx)
Dx PN KN X
y="fu) u=g(x), y=flg(x)].
dy = f(g(x)]g(x)dx = f(u)du
y = f(u) u
y = f(X) dy=f(x)dx X dx dy X
dx
d?y=d(dy) = (f&x)dx) & x
= f & x)(dx)?
= f&x)dx?
dx® = (dx)? d(x®) =2xxdx  (f(x)dx)¢
dx f €x)(dx)? d"y=f®(x)dx" n
d"y
fV(x)=—2=
(x) e

d"(uxv)=d"uzxd"v



¥
d"(w) = Cd™fuxd*v

k=0

y="fu) u=g(x dy = f(u)du

d?y =d(f§u)du)
=d f¢u)du + f ¢u)d(du)
= f §u)(du)® + f§u)d*u
= f ¢u)du® + f ¢u)d?u

u=g(x) d?ul 0

d®u=0 u=ax+b

dc=0
du® =au®**du

da" =a"lnadu
I
dlog, |uz—2a®qy
u

d sn u=cosudu

dcosu =-d9nudu

du
cos® u

du
dn?u

dtgu =

dctgu =-

dacinu=

du
\/1- u?
du

1- u?

d arccosu = -

darctgu =

1+u?

du

d arcctgu = -
1+u

2
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d shu =chudu

dchu = shudu
dthu =34
ch®u
d Arshu=dIn(u+~u® +1) =
Vl+u
d Archu =dIn(u++u®-1) =
«/u -1
1 1+u du
d Arthu=d(=In—) =
( 1- ) 1- u?
d"(uzxv)=d"uzxd"v
n g k yn-k k
d'(uw)=g C,d "uxd'v
k=0
alg vdu- udv
dg—==—"7p—
evg \'
df(u)=f(u)du
d?f(u) = f €u)du® + f ¢u)du o
84.6
$ X U (X,) FO)E F(x) " xT U(x,) Xo
f (%) AN
P.Fermat f(X) X, f(X,) f(x,)=0
f(x,) Dx >0 X, +Dx1 U (x,)

f06+D0)- f(%) .
Dx

Dx® 0  f(x,)£0
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Dx <0 F(%+Dx)- (%) 4

Dx® 00 f(x,)3 0

Dx
f(x,)=0
Fermat 0 f(x)1 C[a,b]
(a,b) f(x)=0 f@ f(x) f()
M. Rolle f(x)1 Clab] f(x) (ab) f (a) = f(b)
$x1 (a,b) f(x)=0
3
f(x)1 Clab] f(x) [ah] M m M =m
f(x)=M f(x)=0 (a,b) X M >m
f (a) = f(b) M > f(a) f(x) xI1 (ab)
f(x)=M X f (x) Fermat f(x)=0
Lagrange f(x)1 Clab] f(x) (ab) $x1 (a,b)
_fb- (@)
fx) = b a
3
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f(x) x
G(x)=|f(a) a
fb) b 1
{(f(0.%), (f@).a), (f(b),b)}
(0T Clah] (ab) G(a)=G(b)=0  Rolle
$x1 (a,b) G(x)=0
fex) 1 0
f(a a 1/=0 f%x):w
fb) b 1 -4
F(x) = f(X) - gf(a)”_f (a;: g(—b) (x- a)g

FO)=[f(X)- f(a)l(b- a)- (x- a)f(b)- f(a)]
Y (x)=f(x)(b- a)- {f(b)- f(a)l

Rolle Lagrange
w Aa, f(a) B(b, f(b) a<b
a>b Lagrange (a,b) f (x) Lagrange
Lagrange f(=fa)+f(x)(x-a) x x a
f(a)+ fx)(x- a) a £ (%)

f(b)=f(a)+ f{a+q(b- a)(b- a)

f(a+h)=f(a)+ f(a+qgh)h
0<g<1 h=b-a

x =a+qh qg=22 0<gq<l h>0 a<x<a+h

0<x-a<h 0<¥<1 0<g<l h<0 a+h<x<a O0<a-x<-h

o<a_'_r’:<1 0<q <1

1 f(x1 Clab] (a,b) f(x)=0  f(x)°C
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Lagrange "x1 [a,b] f(X)- f(a)=f(x)(x-a)=0(a<x <b)

f(x)° f(a)° C

2 f(x) g1 Clabl (ab) f(x)=g(x)  f(x)
= g(x) +C
f(x)- 9(x%) 1
Cauchy f(x) 9T Clab] (a,b) g(x)* 0
sxT (ab) f(b)- f(a) _ fX)

g(b)- g@ g%x)

f(b)- f(a) _ f¢x)

f 1 2
: eorenge ob)-g@ o)
X
f0 9
6% =|f(a g(a)
tb) o) 1
1 X=1 {0,900 (@), (a))
1Y =g(x) U ARG
(f(b),g(b)} G(x) Rolle Sx1 (a,b)
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F() = f(X)[g(b)- g(a)] - g(x)[f(b) - f(a)]

2 g(x)=x Cauchy Lagrange
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f(b)- f(a) _ f(a+q(b-a) _ f(a+qgh)
gb)- g(@ g¥a+q(b- a)) gka+qh)
h=b-a 0<qg<l1
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1 f(x) g(x) (a+¥) lim f(x) = lim g(x) =0
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X® +¥ g(x)
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¥
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®a gEx)
lim %) f(x) _
®a g(X)

K<¥ x® a-0
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s
gé&x) 3
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e
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4
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= fim -4 =fim —1_=0
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x1 C¥(-¥,+¥)
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2 2
/| |\
3
o ¥
0 ¥
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0:¥
) ) Ini
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X® -¥
1
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lir Iny

a;Ina +ajlna, +L +a;lna,
a +a; +L +a,

1 liminy=Ilim
x® 0 X®0

=in(a,L a,)
n
=Iny/a,L a,
Iig%y:«/aiL a, n

. . “Ina, +aIlna, +L +a’Ina
2 Ig@mlnyzlébmai a1X2X2 Xa“ n
X® +¥ X® +¥ al+a2 +L +an

M =max(a,a,,L ,a,)

X X .. X

(?ig Ina1+€a—29 Ina, +L +§ai9 Ina,
eMg eMg

=InM

, . M
lim Iny = lim e’ o
X® +¥ X® +¥ . X - ('jx 8 (.jX
GO B0 ) B

eM g gl\/l 2 &M g
I(i®m¥y: M =max(a,a,,L ,a,)
3 m=mn( a,a,,L ,a,)
X X X
%9 Ina1+(?%9 Ina, +L +%9 Ina,
lim Iny= lim €2 €2 € @
X® +¥ X® +¥ WX =8 WX 8 (.jX
gﬁi—g +9—29 +L +6=
eMmg emg emg

lim y=m=mn(a,a,L a)

121
Xx“dn—, X! 0
4.1 f(0) f(x)=:’ X

{0 x=0.
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b =
4.2 f (0) fx)=te*, x'0

fo x=0.
i1, x
4.3 D(X):I' x=0
i0 X :
1 D(¥ 2 x:D(x) 3 x2 xD(X) .
a4 T(x) f(0) f(0) = 0.
_f(x,+h)- f(x,-h) _
4.5 f(x,) im — - Fdx,).
4.6
. .1 .2 .n
1 Jmlsn—z+sn—+L +sn—]
. 1 2 n
2 Im @+ )d+ )L 1+ —3).
4.7 P(x) 1 M P(M) 2 0.
4.8 y:x2-x+3 (2’5)
4.9 y=x*+5x+4
1 b y =3x+b
2 m y = mx
4.10
- _ 2
1 y=3x+5&+13 5 y:2 «/;+;3x 5x
X X
1+X2 1
3 = 4 =
R 1+ x4+ x?
2
5 y=(1- X)(2- )(3- X) 6 Zlrx+x
1- x+X
7 y—; 8 y= 1 1
(x-D(x- 2 1+/x  1- Ix
o y=iux o ye 2
1- x - 9@+ %)
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1 ax+b
1 =—+3/x 12 = ad - bct 0).
y %/; R y ox+d ( )
411
2 5 3 1 n
1 y = X°9n X 2 y=xInx- =x
n
3 y =cosx:In x 4 y =x:dn x:In x
5 y:(x+£)|nx 6 y:ﬂ
X X
COSX+ 49N X
7 R 8 y =Ctgx
COSX- §n X
9 y =Secx 10 y =CSCX
n y =49n 2X 12 = COjxlnE
X X
13 y =chxdn x 14 y =thxtgx.
jax+b, x>1
4.12 a,b fx)=i ,
7 X5, XE1L
4.13
1 im0
x® 0 X
2 lim n[(1+i)p -1
n® +¥ n p
4.14
1 S, =1+2x+3x*+L +nx"*!
2 S, =1+2°x+3Fx*+L +n*x"".
4,15
1 Cl+2C2+L +nC] =nx"*!
2 Cl+2°C?+L +n°C" =n(n+1) X" 2.
4.16
1 y=(x- 4)° 2 y=x@ +x*)Ja’- x?
3 - 4 =gl X
y az_ X2 y 1- X3
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7 =In(n x) 8
9 =In(x++a?+x?) 10
11 y=In*x? 12
13 X V1 14
«/1+x +«/
15 y=9n" Xxcosnx 16
17y = cos(cos/X) 18
4.17
1 é kan kx 2
k=1
4.18
}xa s'nl, x>0,
1 f(Q) =i X @
{ o, x£ 0.
X 0= I X+c, X3 0, (c
g T1In(1+x), x<O.
3 f(0) ler®n0 f(x)
4.19
1 y=[(x-D(x- 2)%(x- 3)|
}E(x- D(x+D?, |x[EL
2 =14
¥|X|'1, |X|>1'
4.20 f(X) (-¥,+¥)
1 f () f (x)
2 f(x) f (x)
4.21 §/7+%/?:\/a—2 (a>0)
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y((
y=x* (x>0)
y:)(|I'1X (X>O)
L
y=e* (x!0)

=" (x>0)

y=e* (x>0)

e-e’
- eX +e-X

1
y = arcsin =
X

y = e*(cosbx + sn bx)

J___ 1

y =arctg————

-b

y=ar ctgé

y = arctg(tg®x)

al x&

y=X +a

X

+aa

1
7x

=In(arccos

2

y=§\/a2 T2 +2

2
X a
y:E«/a2 + x° +?In | X ++/a®+ x|

(x+1)°

__|—_
y 6 x*-x-1 .3

+ar ctg

t— a>b>0
bg2fzj ( )

y=e* (x

. X
—arcsn —
2 a

y=x% (x>0)
y=e’ (x>0)
y=a"" (a>0)
y=x* (x>0).

1

y=e* (x!0)
y =acsin 4/1- X2

y =arccog(Sn Xx)

y = X xarctgx - %In(1+ x?)

..a ..
a@o 0

B ko

- 2X+2)

= In(e” ++/1+e%)

(a>0)

(a>0)

(a, b>0)



1 X2 +42x+1 1 J2x

20 = In - arctg—— .
( ) y m X2-»\/§X+1 2\/5 gX2-1
4.24 x=acos’t y=asdn’t
1 y(x)
2
4.25 r =2asngq (a>0)
4.26 r =a(l- cosq) (a>0)
4.27 r’=a’cosy %
4.28
Ins=a+hl" S t I
0<l <1 a,b t
h=btl " Inl b>0 h<0 S
b<O0 h>0 S
4.29 Q=200-5p p
4.30
1
2
3 y=1f(x) Xy
431 X R(X) =1000xe 1%
4.32
X P X
1 =In|tg(=+= 2 = arctge
y=In| 9(2 4)I y g
3 y=x* (a>0) 4 y = e’
4.33
1 2eS"*gn xcosxdx = d( ?) @) - ! ~dx = d( ?)
a® +x
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Inx .2 X
eIn X

3) =d(?) (4 dx=d(?)
\1- x2
5 2xe’ cose’dx=d(?) © ——dx=d(?)
1+e”
eX
7 dx=d(?).
M) md=d(?)
4.34
1 4120 2 %80
3 9n(29° 4  arctgl.05.
_ _ _ d . . _d> .,
4.35 fq)=0 fq1)=1 x=1 —f(x)=—1%(x.
dx dx
4.36 y, =acsnx Yy, =arccosx Vi Vs
(1- x*)y@- xy¢=0.
437 y = (X++/1+x*)" (1+X°) y@+ xy¢=mPy.
1
4.38 T.(X) :Fcos(narccos X)
(1- X*)T.&x)- XT&X) +n°T (x) =0.
T.(¥)
4.39 y(
1 i/?ﬁ/?:%/a_z (a>0)
2 x¥+y®-3axy=0 (a>0).
4.40 y{(x)

1 x=acos’t y=asn’t (a>0)
2 x:a(lntg%+cost) y=asnt (a>0).

4.41 y(”)

102



4.42
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4.45

4.46

1 = 2 =
YT Y ¥1- x
3 y= X 4 y=dn®x
1-x
5 y=sn®x 6 y=e‘snx
7 y= ;( 8 y=e"(dn x+cosx).
X“-1
-
1 y=x"*Inx y™ = (n-Dt
X
ax+b nic™?
2 = ™= (-)"——=—(bc- ad).
y cx+d y -3 (cx+d)”+1( )
y = arctgx
(n) — Pn—l(X) P (X) n- 1
(1+x%)" i
2 Pn.1(X) (' D“‘ln! N

y = (arcsin X)?

1 (1- x?)y@- xy¢=2
2 (1- x3)y™2 - 2n+)xy"™P - n?y™ =0 (n3 1)
3 y™?(0) =n’y® (0)
4 y™(0).
P.(x) = znlm[(x2 "™ (n=0,12L)
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X dn N - X
—e——(X'e
y OIXn( )

xy€- (x- 1)yc+ny =0.
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f(x) f(x) f(x) + f(x)
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2"nl dx"

R.(X) = x*-D" [-17 n

n
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dx"
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n! dax"

f(x) (ab) f(x) f(x) (a b)
fO(X)  (-r,+r) ng“%mzl f™0O) =1 .
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h
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a b
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